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Because itwas a holiday.

Take the next exit.

Did you miss the exit?

| saw the sign.

Look for the sign.

Can you turn on the radio, please?
The radiois on.

Let's go to the zoo.

The post office is closer.
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I'm going on vacation next week.
And I'm staying until Monday.

I'm going to see a doctor on Monday.
Do you have the address?

| have the old address.
I think it's the wrong address.
And | can'treadit.

I need the new address.
I need the right address.

What's your doctor's name?
His name is Doctor Rashty.

He's the best doctor.
I've been to his office a few times.

But I don't drive anymore.
I have to take the bus.

| used to drive very fast.
We can take my car.

Did you turn on the answering machine?

Yes, | did.
Then turn off the lights and let's go.

You're driving too fast.
| used to drive faster.
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Where's the address? £9S UmysT

Here's the address. wgsT bl

| can't read English. P393 uedSSl E5giiias o
How far is it from here? Tlaigl jl 0)95 jio

Only a few kilometers #ioglsS N> o hid

Just a few kilometers

Bundy is the next street. oo Og i 530b

| have to go to the post office first. g 0151 o Jol 0L

| tried to go to the post office yesterday. Cany 0131 037 jg s @S 2w
But it was closed. Sgu 63 )9

Why? Sz

Because it was a holiday. S92 Olohses g2

Yesterday was a holiday. S92 Gl jg s

Then we can go to the post office today. g 65151 pu s jgso0l Eaogiao Jus
Today's not a holiday. G lhss jg ol

355 o oy a0 oyl jgiss Lo
A: Are we still going to the doctor's office?

Tuld 9 3035 Gyl oyl
B: Yes, do you have the new address?

‘P U RIS EaaS (595 g S0d2 (ST EaSao 4SS (egl
A: Oh, | think | have the new address in my wallet. Let's go.

?@b 9.uJJLQ.w
B: Do you have his phone number?

.[DJ|) OJT
A: Yes| do.

U 9 oS ST Gl g e S9j Ui Uy
B: Then call him and ask him for the right address.
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A: Okay. Now | have the new address.

S 63S g g S by

B: Did you turn on the answering machine?

T3S ES0S giao .oyls U SaS S oy 63500 LS (592 62 PIgNal

A: 1 don't know how it works. | need some help. Can you help me?
0uSao S Ul ... Lojdy (o>

B: Sure, here you are.... Now it's working.

‘P Uk 9 OS Ubgols g by gl Ju

A: Then turn off the lights and let's go.

fouSa0 SaWly S

B: Who's driving?

S LSl Iawy g0 95 g E3S LSl Y UI Eogiso o

A: | can drive now, and you can drive later.

Would you like to go to a coffee shop instead? Sl 818 oy 69 (g2 UHL> 69 Slguo s
Why? Sz

| think today's a holiday. oulibss jg ol Eas ;S8

No, tomorrow's a holiday. oulubss 1535 (60
You're driving too fast. P90 S5 (53 gyl
What's the address? Souz sl
Take the next exit. 350 9y §d% 295
Which exit? 29> PSS
The Bundy Avenue exit 3L LS o295

Did you miss the exit? TS 3 9y 295 LT

No, | didn't miss the exit. P55 3) g 529 > o9
But | saw the sign. PSud g Cuolle g

| saw the sign. P2 g caolle

Did we miss the exit? TS 3 g w2guS LT

No, but | saw the sign. ©333 g Cwolle Jlg 63
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Are you sure the doctor's office is open today?

Yes, today isn't a holiday.
Today is not a holiday.

You're still driving too fast.
Did we miss the exit?

I just saw the sign.
It's the next exit.

He's in college now.
He wants to work for Microsoft.

I can help him.
How can you help him?
How can you help my son?

| have a few friends in Microsoft.

Look for the sign.
Can you help me?

Do you have the address?
Yes, but | can't read it.

I think it's on Ocean Street, after the library.

Let's go to a coffee shop first.
Firstlet's go to a coffee shop.

Not now
Then look for the sign.

What did the doctor say?
| have to drink more water.

And | have to start walking.
And | have to eat less food.

Can you turn on the radio?
Can you turn on the radio, please?

| wantto turn off the radio.
I'm listening to it.
But I'm listening to the radio.
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Take the next exit.
But I didn't see the sign.

Because you're driving too fast.

Take the first exit.
Look for the first exit.

I'm looking for the sign.
I'm looking for my wallet.

Turn off the radio first.
Then we can look for the sign.

But I'm looking for my wallet.
| want to buy a few stamps.

Then we have to go to the post office.
We can go to the grocery store instead.

Bigger
Smaller
Closer

The post office is closer than the grocery store.

But today's a holiday.
But today is a holiday.

No, yesterday was a holiday.

Turn of the lights.
And turn off the answering machine.

I have to call my mother.
| tried afew times.

But her number was busy.

| tried a few times, but her number was busy.

Do you have the right number?
I think so. Let me try again.

Her answering machine is on.

What's the meaning of the word on here?

What does on mean here?
The meaning of the word onis....
Her answering machine is on.
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Then did you call the wrong number?
I don't know. Maybe it's the phone company.

Can you turn on the radio, please?
The radiois on.

Then turn off the lights.
The lights are off.

Let's go to the zoo.
Where's the zoo?

It's close to the museum.

It's closer to the library.
It's only three miles from here.

Take thefirst right.
Then the first left

It's the first exit on your right.

www.facebook.com/khosro.ebrahimi

Holiday

Exit

Miss

Missed

I missed the exit.
Radio

Look

Book

Look

Close
Closer

A closer look
Drive
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My husband drives faster.
Faster than me
My husband drives faster than me.

Cars are more expensive in Iran.
Than the United States
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I don't think so. LACHA
Cars are more expensive here thanin Iran. bzl s B g8 iyl ke puiilo
Did we miss the exit? P25 35 9y 29>
Did you see the sign? T532 g Cuolle
I'm going to take the next exit. 133 9) 53 293 Pyl JLS
Let's go to the zoo tomorrow. U9 EL o 138 Ly
Okay S9!
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